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il FFE 3
REF M 3
RE AT 3

8 135.96 B JI #HiFE Fi 3 =ZERMhE =ERE 10.12
e Fi 3
HIE #X 2
Rk B 3

9 136.44 tHey K BEE 3 =ZERMhE =ERE 10.12
A3 shE 3
o Ed 3
50 23} 3

10 136.89 #HF% IE#E EX 3 EFRFEAEQMXFE ZERE 9.26
TH Eth 3
HFEX Bt 3
BKOBK 2




2009/1/128 %7

4 X200mR

T B ZF

11 137.30 LA R4 ~HE 3 ZERfE =ERE 10.12
fall #8 3
R 8- 3
hH B 3

12 13732 3 A [HE MBEE 3 ZERMpE =ERE 10.11
FRE kit 3
ME Bafd 3
&0 #F 3

13 13751 BRR £ FE2E 3 ZERGE ZERE 10.11
He Ht 3
=Bk AAsA 3
ifE E 3

14 137.61 Al #E —5H 3 =ZERMp%E =ERE 10.12
Bl AR 3
HiR I 3
Bl H®E 3

15 137.86 IUA BT EHW 3 BHZEFAEIMRFE ZERE 9.26
LA #55E 3
HEA £ 3
EiR EE 3

16 137.95 UK & [k 3 =ZERMpE =ERE 10.12
48 g2+L 3
He 5% 3
By og 3

17 13803 1 F TR FEEN 3 =ZERMHE =ERE 10.12
FE =X 3
nEE =A 3
INR B 3

18 138.04 HJIl FERK —_R 3 FERERETFIE =ERE 8.11
Bl # 3
E% *x 3
B  R—H 3

19 138.21 %EM FEth itk 3 FERERETFIE —ERE 8.11
N i 3
i 2 3
BA RE 3

20 138.22 B&lR 18 FE2=) 3 BhEFAEQMXFE ZERE 9.26
He Hth 3
LA &% 3
ST E 3




MRIERRE X

B

A

2008/12/29 88 %

1 23535 HHA &F WP FEBERM 6.21
(15.98, 9m65, 1m77, 56.22)

2 21643 ZH Et A HEFBIE R 6.21
(16.92, 10m21, 1m55, 54.80)

321338 A &4 m 2 3 HEBEERK 6.21
(15.21, 11m31, 1m45, 60.64)

4212158 Rk A =H RIS R =ERE 6.21
(16.29, 9m23, 1m55, 56.12)

521054 =H & MR REBERM =ERE 6.21
(16.16, 9m24, 1m55, 56.91)

6 1985/ e &®& FEB=)I 3 RREERER =ERE 6.21
(16.87, 8m06, 1m60, 57.20)

719764 AREKHE —i& 3 HEBEERK =ERE 6.21
(19.29, 13m01, 1m60, 59.30)

8 19624 BAR F N 3 ERBEEREMK ZERE 6.21
(18.30, 8m69, 1m55, 54.17)

919244 [RE #R AR 3 HEBEERK =ERE 6.21
(16.94, 8m41, 1m45, 56.23)

10 18974 R & =H 3 HERBIEEREK =ERE 6.21
(16.78, 8m85, 1m55, 60.17)

1118418 T F05h 1EEF 3 HEEERK =ERE 6.21
(17.10, 8m01, 1m40, 56.41)

12 18218 =2H% AR MR 3 RRBERERK =ERE 6.21
(18.02, 7m74, 1m45, 55.07)

13 18134 EE EE E& 3 HEBIEER =ERE 6.21
(16.86, 9m09, 1m40, 59.63)

14 178055 FHE RE g 3 FERBEEREK =ERE 6.21
(18.69, 8m67, 1m60, 58.93)

15 172554 2H BT 7rHE 3 HEBEER =ERE 6.21
(19.33, 10m34, 1m35, 56.71)

16 170754 BN RiE itk 3 PEREEREK ZERE 6.21
(17.89, 7m70, 1m35, 56.50)

17 16535 mO K EHLW 2 PERREER =ERE 6.21
(18.92, 7m67, 1m55, 59.20)

18 16334 i E itk 3 HERIEEK =ERE 6.21
(18.98, 8m28, 1m35, 56.69)

19 16135 B 15 =B 2 PRBEER =ERE 6.21
(18.76, 8m65, 1m60, 63.92)

20 159254 R EX bt 3 PEREEREK =ERE 6.21
(20.11, 7m69, 1m35, 54.47)
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